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QUESTION 1

On a vSS, how does teaming two or more physical network adapters provide load balancing when using the Load
Balancing feature Route based on the originating virtual port ID?

A. They physical network adapter is chosen by use of a round robin based algorithm for each additional virtual port in
the port group that becomes active.

B. The physical network adapter is chosen by using the source IP address of the virtual machine and the destination IP
address as variables in an algorithm.

C. The physical network adapter is chosen by using the source MAC address as a variable in an algorithm.

D. The physical network adapter is chosen based on the workloads from each port and the number of physical
adapters.

Correct Answer: A

QUESTION 2

An organization has a vSphere environment configured with two adapters on each ESXi host. The physical network is
configured to use Etherchannel.

Based on the available options, what is the best option for load balancing traffic on the ESXi hosts?
A. Configure a vSS using the Route based on originating virtual port load balancing setting.

B. Configure a vDS using the Route based on physical NIC load load balancing setting.

C. Configure a vDS using the Route based on source MAC hash load balancing setting.

D. Configure a vSS using the Route based on IP hash.

Correct Answer: D

QUESTION 3

To provide high availability and resilience for your NSX Manager deployment, you should utilize which high availability
feature?

A. Configure the NSX Manager virtual machine(s) for Fault Tolerance
B. Install multiple NSX Managers per vCenter Server installation.

C. Configure the use of vSphere HA and DRS.

D. Configure NSX High Availability.

Correct Answer: C
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QUESTION 4

What is the most restrictive NSX role that can be used to create and publish security policies and install virtual
appliances?

A. Security Administrator
B. NSX Administrator

C. Auditor

D. Enterprise Administrator

Correct Answer: D

QUESTION 5

What is the frequency of the heartbeat between the active and standby NSX Edge instances when configured for HA?
A. Every 1 second.

B. Every 2 seconds.

C. Every 5 seconds.

D. Every 15 seconds.

Correct Answer: A
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